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DME—THIRD SEMESTER EXAMINATION O
MACHINE DRAWING PRACTICE

Time : 3 hours ] [

PART—A

Instructions : (1) Answer all questions.
(2) Each question carries fiv

(3) All dimensions are to 1 m.

1. Sketch the following thread profiles@and [&bel in terms of pitch :

2Y5+2Y=5
(a) Acme thread

(b) Square thread

2. Draw the front and t icw of a double riveted chain lap joint
and the thickness of\geach plate to be joined is 9 mm.
2Y2+2%=5

3. Draw the fomxw d symbols : 1x5=5

(a) Convex

ingle-bevel butt weld
Draw the symbols for the following pipe fittings (single line) :
1x5=5
(a) Coupling
(b) Plug
(c) 90° elbow
(d) Reducer
(e) Cross
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PART—B 40
Instructions : (1) Answer any one question.
2) Each question carries forty marks.

3) All dimensions are given in mm.

4) Choose suitable scale.

(5) Assume missing dimensions suitably. O

5. Draw the front and side view of the socket and Spigot joint 0
assembly, the details of which are given below :

(a) Front view ¢® 20
(b) Side view

(c) Dimension
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Parts list
Noy N Matl | Qty

Socket end MS | 1
Spigot end MS | 1
Cotter HCS| 1
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6. Draw the front and top view of the plummer block in assembly,
the details of which are given below : 25+10+5=40
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